

1 $x^2 + y^2 + 2x + 6y + 6 = 0$

Solution

$$x^2 + 2x + y^2 + 6y = -6$$

$$(x+1)^2 + (y+3)^2 = -6 + 1 + 9$$

$$(x+1)^2 + (y+3)^2 = 4$$

$$(x+1)^2 + (y+3)^2 = 4$$

Compare with

$$(x-a)^2 + (y-b)^2 = r^2$$

where (a, b) is the centre

$$\therefore x-a = x+1$$

$$a = -1$$

$$y-b = y+3$$

$$b = -3$$

The centre is $(-1, -3)$

recall $(x-a)^2 + (y-b)^2 = r^2$

$$\therefore r^2 = 4$$

$$r = 2 \text{ units}$$

2 $x^2 + y^2 - 4x + 10y - 8 = 0$

Solution

$$x^2 - 4x + y^2 + 10y = 8$$

$$(x-2)^2 + (y+5)^2 = 8 + 4 + 25$$

$$(x-2)^2 + (y+5)^2 = 37$$

$$(x-2)^2 + (y+5)^2 = 37$$

Compare with

$$(x-a)^2 + (y-b)^2 = r^2$$

$$a = 2, \quad b = -5, \quad r^2 = 37, \quad r = \sqrt{37} \text{ units}$$

\therefore The centre is $(2, -5)$

radius is $\sqrt{37}$ units